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Q1. Discuss the formation of Newton’s rings by reflected light. Descnbe_ g

8
Q2. (a) Explain the Fraunhofer class of diffraction, Find thenﬁssﬁgﬁ ogaers in a double slit diffraction
pattern if (i) & = a, (ii) b = 2a; where ‘@’ is the slit wid

%a;genmental arrangement

using a schematic diagram. Why Newton’s rings are circular? o [4 Marks]

g [2 Marks]
(b) Show that the maximum value of resolvmgif}i}%e 3 grating = nN, where » is the order of the

principal maximum and IV is total number, Qtﬁ%h 55, n”’%he grating surface. [2 Marks]
Y

""i‘ie angle of wedge. [2 Marks]
(b) On introducing a thins %he%% ‘g@fﬁ@of thickness 1.2 g in the path of one of the interfering beams, |
: \cg&%%,rral fringe is shifted through a distance equal to the spacing between
efractive index of mica (A=600 nm). [2 Marks]

in a biprism expemﬁ%’nt

bright fringes. %E’sulaf%h >

",
Q4. A lethose ?@\gal%éigﬂl is 40 cm forms a Fraunhofer diffraction pattern of a slit having®.3 mm
w@g CaT‘“é:géate the distance of the first dark band and the next bright band from the axis if sodium
ﬁg%lt e séd as a source (4 = 589 nmy). [3 Marks]
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